
 

𝑥2 + 2𝑥 − 35 = 0

2 −35 7 −5

7 + (−5) = 2 

7 · (−5) = −35

𝑥2 + 2𝑥 − 35 = 0 ⇔ (𝑥 − 5)(𝑥 + 7) = 0

𝑥 = −7 ∨ 𝑥 = 5

 

𝑓(𝑥) = 25𝑥 + 420

𝑓(𝑥) 𝑥

2010

 𝑓(𝑥)

𝑎(𝑥) = 𝑥2 + 7 𝑏(𝑥) = ln(𝑥) 𝑎′(𝑥) = 2𝑥 𝑏′(𝑥) = 1/𝑥

𝑓′(𝑥) = 𝑎′(𝑥)𝑏(𝑥) + 𝑎(𝑥)𝑏′(𝑥) 

            = 2𝑥 ln(𝑥) +
𝑥2 + 7

𝑥
, 𝑥 > 0

𝑓′(1)

𝑓′(1) = 2 · 1 · ln(1) +
12 + 7

1
= 0 + 8 = 8



 

𝑘 =
|𝐴𝐵|

|𝐷𝐸|
=

6

4
=

3

2

|𝐶𝐵|

|𝐶𝐵| = 𝑘 · |𝐶𝐸| =
3

2
· 3 =

9

2

|𝐸𝐵|

|𝐸𝐵| = |𝐶𝐵| − |𝐶𝐸| =
9

2
− 3 =

3

2

 𝑓 𝐹

𝐹(𝑥) = ∫(8𝑥3 − 6𝑥 + 1) 𝑑𝑥 = 2𝑥4 − 3𝑥2 + 𝑥 + 𝑘

𝑃 𝑘

−6 = 2 · 24 − 3 · 22 + 2 + 𝑘 ⇔ −6 = 32 − 12 + 2 + 𝑘 ⇔ 𝑘 = −28

𝐹, 𝑃

𝐹(𝑥) = 2𝑥4 − 3𝑥2 + 𝑥 − 28

 

𝑦 = 𝑥2

𝑃

(𝑦 − 3) = (𝑥 − 4)2 ⇔ 

𝑦 − 3 = 𝑥2 − 8𝑥 + 16 ⇔ 

𝑦 = 𝑥2 − 8𝑥 + 19

𝑃

𝑦 𝑥 = 3 𝑥 = 5

3 = 𝑎(4 − 3)(4 − 5) ⇔ 𝑎 = −3

𝑦 = −3 · (𝑥 − 3) · (𝑥 − 5) ⇔ 𝑦 = −3𝑥2 + 24𝑥 − 45



 0

𝑎⃗ · 𝑏⃗⃗ = 0 ⇔ 𝑎⃗ ⊥ 𝑏⃗⃗

𝑎⃗ · 𝑏⃗⃗ = (
1
3

) · (
2

−2
) = 1 · 2 + 3 · (−2) = −4 ≠ 0

 𝑎⃗

𝑃

𝑎̂ = (
−3
1

)

𝑙

−3(𝑥 − (−8)) + 1(𝑦 − 10) = 0 ⇔ 

−3𝑥 + 𝑦 − 34 = 0 ⇔ 

𝑦 = 3𝑥 + 34

𝑙

 |𝐴𝐵|

|𝐴𝐵| =
8

cos(40)
= 10.443

𝐴𝐵𝐶

|𝐵𝐶| = √10.4432 + (8 + 12)2 − 2 · 10.443 · (8 + 12) · cos(40) = 13.75

|𝐵𝐶|

 

𝐵 = arccos (
10.4432 + 13.752 − (8 + 12)2

2 · 10.443 · 13.75
) = 110.778𝑜

𝐴𝐵𝐶

𝑇𝐴𝐵𝐶 =
1

2
· 10.443 · (8 + 12) · sin(40) = 67.126

𝐴𝐵𝐻

𝑇𝐴𝐵𝐻 =
1

2
· 10.443 · 8 · sin(40) = 26.850

67.126/26.850 = 2.5

𝐴𝐵𝐶 𝐴𝐵𝐻



 

𝑎 𝑏

𝑎 = 1.223965 

𝑏 = 14.38554

 𝑎

𝑟 = 1.223965 − 1 = 0.223965 = 22.3965%

22.4%

2000

𝑇2 =
ln(2)

ln(𝑎)
=

ln(2)

ln(1.223965)
= 3.43

 𝑦(𝑥) = 500

14.38554 · 1.223965𝑥 = 500 ⇔ 

1.223965𝑥 =
500

14.38554
⇔ 

𝑥 ln(1.223965) = ln (
500

14.38554
) ⇔ 

𝑥 =
ln (

500
14.38554

)

ln(1.223965)
= 17.557

2018



 sin(𝑥) 1 −1

sin(0.52 · 𝑡 − 3.14) 1 −1

𝑑(𝑡) = 2 · 1 + 7 = 9 

𝑑(𝑡) = 2 · (−1) + 7 = 5

9 5

 



𝑀 = 11.833

 

 𝐴′(100)

100

120𝑚2

 1.5𝑚3

1.5𝑚3 13554𝑚2

𝐴(𝑡)



 

(𝑥 − 𝑎)2 + (𝑦 − 𝑏)2 + (𝑧 − 𝑐)2 = 𝑟2

(𝑥 − 2)2 + (𝑦 − 3)2 + (𝑧 + 4)2 = 52

𝑃

(6 − 2)2 + (0 − 3)2 + (−4 + 4)2 = 52 

⇒ 25 = 25

 𝑃

𝑃𝐶⃗⃗⃗⃗⃗⃗ = 𝐶 − 𝑃 = (
2 − 6
3 − 0

−4 − (−4)
) = (

−4
3
0

)

𝑃

−4 · (𝑥 − 6) + 3 · (𝑦 − 0) + 0 · (𝑧 − (−4)) = 0

−4𝑥 + 24 + 3𝑦 = 0

 

−4(3 + 𝑡 · 0) + 24 + 3 · (−4 + 𝑡 · 0) = 0 

⇒ 0 = 0

𝑚 𝛼

((3 + 0 · 𝑡) − 2)
2

+ ((−4 + 0 · 𝑡) − 3)
2

+ ((2 − 6 · 𝑡) + 4)
2

= 52 ⇔ 

36𝑡2 − 72𝑡 + 86 = 25 ⇔ 

36𝑡2 − 72𝑡 + 61 = 0

𝑎 = 36 𝑏 = −72 𝑐 = 61

𝑑 = 𝑏2 − 4𝑎𝑐 = (−72)2 − 4 · 36 · 61 = −3600

𝑑 < 0 𝑚

 1000 𝑉 ℎ

1000 = 2.6 · 𝑎2 · ℎ ⇔ 

ℎ =
1000

2.6 · 𝑎2

𝑎



 ℎ 𝑂

𝑂(𝑎) = 2.6 · 𝑎2 + 6 · 𝑎 · (
1000

2.6 · 𝑎2
) = 2.6𝑎2 +

2307.692308

𝑎

𝑂′(𝑎) = 5.2𝑎 −
2307.692308

𝑎2

𝑂′(𝑎) = 0

5.2𝑎 −
2307.692308

𝑎2
= 0 ⇔ 

5.2𝑎 =
2307.692308

𝑎2
⇔ 

5.2𝑎3 = 2307.692308 ⇔ 

𝑎3 = 443.7869823

𝑎 = √443.7869823
3

= 7.627663395 ≈ 7.628

𝑂′(6) = 5.2 · 6 −
2307.692308

62
= −32.90256411 

𝑂′(8) = 5.2 · 8 −
2307.692308

82
= 5.54230769

𝑎 = 7.628



 

𝐴(𝑡) 𝐴(𝑡) = 100000



 𝐴(0) = 30000 𝑝 = 2.5% 𝐴(8) = 70000

3766.8


